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And 127 will tell you that everyone, etc. — 9912 R2%Y 99127 7% 272K 72

OVERVIEW

The %3 (in the R1IR X7 which maintains that 11192 9217 P2°7X V3 WY 2
[according to 7127]) maintains that it is not necessary to assume that 271 727 are
X1n> (like 1327 ") for X271 can interpret the mawn like the Nnp X% (which
maintains 1™192 9% ¥"R VX W2TW '2), and 727 can explain that 1127 °"9 argue
whether we are Y21P%P% 227 2 Rw . Our Mooin offers another option how 7127
1S not >Xin>.
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The &3 could have just as well answered that ;739 will interpret the np1?mn
between 71271 *"1 like the first % in the x»3 previously” -
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For also according to 727 when two 2m>w bring a vx they are not required to

say (1725w TnKR?) 1"192, since it is not common for there to be two 2>m>w for one b3 -
:(3,1 YY) NI P93 JINNTD

as was mentioned previously in the first p=s.

SUMMARY
The X713 could have given the same explanation for 727 as it did for X27; namely
that he follows the view of the Xnp R,

THINKING IT OVER

MBoIN is suggesting that the X723 could have said that 7727 (also) follows the view
of the Xnp Xi1w°9. However, if both 7727 and ®27 follow the view of the p"?7, then the
X1nR ®1w°H will disagree with both 7127 and X21! How can we explain the R"5?!

! Just as the X stated that X217 can interpret the np12ma like the p"%, similarly 7127 can also interpret the npyomn like
the P"? (and 7327 °"1 argue whether X127 MNvW 0P *9172M°KR? "NX). See previous X1?XR 717 '01N on this Ty,

2 721 can follow both the "> and the X"9; however X217 can follow only the p">.

3 ymbw AnKY there is no ‘real’ concern for Anw? it is only a 771 perhaps ¥2p%p% 727 M, therefore by a K97 Xn9™»
Rrow like va 27w "3, the 0°Mon were not 7M.
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